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FA S
M o AWM Us Y W =9 84
e EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 421,455
=S 108,557
Al 108,557
02 RIINEASEZ(0IETHR) 638,569 619,552 19,017
OE2MEHM K& 638,569
= 421,455
= 108,557
Al 108,557
SIIEHIE XIS (HEAL) 1,116,232 1,116,232 0
402 2I2F X201 & 1,116,232 1,116,232 0
01 IR SASE X (XHMITHR) 1,116,232 0 1,116,232
OsJIZdlz X 1,116,232
SI12dlE XA X2 577,200 399,900 177,300
201 er23| 5,000 0 5,000
01 At2t2ltl 5,000 0 5,000
ORJIEHIE SEEAM 5,000
402 2IZtA=01d 572,200 399,900 172,300
01 QI X2 AL E (K THE) 572,200 399,900 172,300
ORJIEHIZE XAl X2 348,800
OXtd=g =ZetXl £l X2 223,400
SHASEEXA 8,200,000 8,200,000 0
301 2P EN= 8,200,000 8,200,000
14 JIEt2 8= 8,200,000 8,200,000
O=sIHasSEH(XEEHIE 8) =2 N 8,200,000
HE JtHetd X& 1,739,340 0 1,739,340
= 1,043,604
[ 208,721
Al 487,015
307 glztol & 1,739,340 0 1,739,340
= 1,043,604
== 208,721
Al 487,015
02 LB AANHEE 1,739,340 0 1,739,340
OHlgit otd XI& 1,739,340
= 1,043,604
= 208,721
Al 487,015
s Seg 5,081,611 5,081,611 0
[ 2,032,644
Al 3,048,967
101 @124H| 18,716 18,716 0
= 7,486




FA S
B =0l AW Ust U WY =9 84
ol skt EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 11,230
04 JIZtNZ22 XS 2+ 18,716 18,716 0
Os8l Sg(22]) 18,716
s 7,486
Al 11,230
201 2egh=3| 9,095 9,095 0
& 3,638
Al 5,457
01 At2teltl 7,8% 7,8% 0
Osol Sod+=g (5 3Hl) 7,89
= 3,158
Al 4,737
02 S3=gHl 1,200 1,200 0
O=8l Bl MAAAE(HAPUS) SXI2= 1,200
== 480
Al 720
301 LELEN S 5,063,800 5,053,800 0
= 2,021,520
Al 3,032,280
14 IIEt2d3 5,053,800 5,053,800 0
Ostl s9+4 5,053,800
= 2,021,520
Al 3,032,280
JI28 SAN=EN 24,761,000 24,243,000 518,000
= 24,761,000
301 EtE N = 24,761,000 24,243,000 518,000
= 24,761,000
14 JIEt2 8= 24,761,000 24,243,000 518,000
OJl=d SAXSAE 24,761,000
= 24,761,000
JlEd SAXEN(HEHYI) 78,000 78,430 A430
= 78,000
101 @124H| 57,500 57,530 A30
= 57,500
M ORINZZ2NSE S 57,500 57,530 A30
OJl=8 SARE A (QI24H]) 57,500
= 57,500
201 2= 20,500 20,900 A400
= 20,500
01 AtR2t2|HI 20,500 20,900 2400
OJI=8 SARSAS (HEZH]) 20,500
= 20,500




FA S
M o AWM Us Y W =9 84
=9l sddd EER-E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
HENEXNEM 3,031,885 0 3,031,885
= 3,031,885
301 EtE NS 3,031,885 0 3,031,885
= 3,031,885
14 DBt 2 a3 3,031,885 0 3,031,885
OdxXNENEM 3,031,885
= 3,031,885
2 =X 983,762 865,478 118,284
= 491,881
& 147,564
Al 344,317
301 LEIE NS 983,762 865,478 118,284
= 491,881
s 147,564
Al 344,317
14 J|Et2a s 983,762 865,478 118,284
OZ22d XA 983,762
= 491,881
= 147,564
Al 344,317
J22d HEM(<HI) 323,358 283,359 39,999
[ 97,007
Al 226,351
301 LELEN S 323,358 283,359 39,999
S 97,007
Al 226,351
14 IIEt2 83 323,358 283,359 39,999
OZ2A2d MEAH(EHI) 323,358
= 97,007
Al 226,351
=g A=A 1,047,000 1,054,929 AT,929
== 1,047,000
301 EtE N = 1,047,000 1,064,929 AT,929
= 1,047,000
14 JIEt2 8= 1,047,000 1,064,929 AT,929
O=sdg A=A 1,047,000
< 1,047,000
gsg A= 57,000 50,884 6,116
< 27,380
Al 29,620
202 04| 5,600 3,840 1,760
< 1,680
Al 3,920
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FA S
B S0 QM A5 U YA
Chol: EpH (Hol: &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 48,483
Al 242,412
INSHLME SH2Y XS 11,130 12,564 A1,434
Il 11,130
402 212 X201 & 11,130 12,564 A1,434
7l 11,130
03 2IZ+LAETAIZHI 11,130 12,564 A1,434
OZAIZ THHHE BX+ IR (LBHEXT) 11,130
Il 11,130
H2HAELE ArZelXME X 1,501,783 1,216,141 285,642
) 834,323
& 166,865
Al 500,595
301 LEtE NS 1,501,783 1,216,141 285,642
Jl 834,323
< 166,865
Al 500,595
14 JIEt2 8= 1,501,783 1,216,141 285,642
OX=AZ AtZelX ME28H X&(d2d
xI) 1,501,783
Jl 834,323
== 166,865
Al 500,595
HEHAELEE SAH7E K& 57,728 69,218 A11,490
J| 57,728
402 2I2F X201 & 57,728 69,218 A11,490
Jl 57,728
03 2IZHRAETAI A I 57,728 69,218 A11,490
OXAE H2HX 248 S7Y A 57,728
) 57,728
HEHAELEE B8 X2 744,872 567,448 187,424
Jl 372,436
Al 372,436
402 2I2FX=01 & 744,872 557,448 187,424
) 372,436
Al 372,436
03 2IZ+LAEAIZ I 744,872 557,448 187,424
OXAZH2EX] EHIXIA 744,872
Il 372,436
Al 372,436
A H2EX SSH K& 323,415 269,749 53,666
Jl 179,675
s 35,935




A SEFL
B S0 QM A5 U YA
o9l 4SS (el ®9)
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
Al 107,805
301 LEHBEF 323,415 269,749 53,666
| 179,675
& 35,935
Al 107,805
14 J|EI2 A3 323,415 269,749 53,666
OZxAE d2HX 252 M2dl X& 328,415
| 179,675
= 35,935
Al 107,805
TAIE MAD|EE &= 175,060 185,000 29,940
& 42,018
Al 133,042
301 LEHBEF 135,060 125,000 10,060
= 30,018
Al 105,042
14 JIEt2 A3 135,060 125,000 10,060
OXAZ MatEeig XN 100,060
= 30,018
Al 70,042
OZAlZ 234l K& A 35,000
402 IZER=0IH 40,000 60,000 220,000
& 12,000
Al 28,000
02 QIZEXHE AL B X (01 &THE) 40,000 60,000 A20,000
OAtZ XIS ZEIXIE ALY 40,000
= 12,000
Al 28,000
TAZESE 22X 29,476 30,922 21,446
| 14,738
Al 14,738
101 eI t| 28,000 28,000 0
| 14,000
Al 14,000
M I1RINZ2Z2XSE+ 28,000 28,000 0
OXZAMNE SESSZAL 22| 28,000
| 14,000
Al 14,000
201 B2 AL| 1,476 2,922 A1,446
J| 738
Al 738
01 At22teld 1,476 2,922 A1,446

1,476




SN SYEAD
B S0 QM A5 U YA
Sl S428d (crel ®2l)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Jl 738
Al 738
SE0t Za s A 4,000 0 4,000
Il 2,000
Al 2,000
307 gl2to| & 4,000 0 4,000
Jl 2,000
Al 2,000
02 QB HANEER 4,000 0 4,000
OsE0F 228 K& 4,000
Jl 2,000
Al 2,000
StYSOHME 181,300 220,500 239,200
Jl 77,850
== 25,810
Al 77,640
307 212+01& 181,300 220,500 A39,200
Jl 77,850
=S 25,810
Al 77,640
05 git?(& = 181,300 220,500 239,200
Ostd sOtdE X 181,300
Jl 77,850
= 25,810
Al 77,640
FAESHHEHEI X 16,000 10,000 6,000
Jl 8,000
Al 8,000
307 212+01& 16,000 10,000 6,000
Jl 8,000
Al 8,000
02 2IZHB A E & 16,000 10,000 6,000
ORadsite 28X 16,000
Jl 8,000
Al 8,000
U MY SEAS(XY) 2,000 1,800 200
=S 600
Al 1,400
307 21201 & 2,000 600 1,400
S 600
Al 1,400
02 2B HAHE L 2,000 600 1,400
OsitAE -3 NA 2,000




FA S
B S0 QM A5 U YA
ool EMHE (Shol: &2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 600
Al 1,400
S st gg R 268,600 219,594 49,006
= 86,830
Al 181,770
301 EtE NS 1,600 1,600 0
=S 480
Al 1,120
14 0Bt 2as 1,600 1,600 0
Ozlgtd sit= 2IsHl K& 1,600
< 480
Al 1,120
307 glztol & 62,500 62,500 0
= 25,000
Al 37,500
05 212t S 62,500 62,500 0
OJI=Mol 28 sRE3 XS (=Y
ZEXA) 62,500
=S 25,000
Al 37,500
402 2I2E X201 & 204,500 185,494 49,006
< 61,350
Al 143,150
02 QI X2 AL EE (01X THE) 180,000 129,834 50,166
OF4t JITHH K& A 16,000
= 4,800
Al 11,200
Otz S N3 AY 5,000
=S 1,500
Al 3,500
O=gUHl Jt=AtsEd i 48,000
< 14,400
Al 33,600
OnZE 2SJIMM(a=2)X 60,000
= 18,000
Al 42,000
OgdssJt 2datEl Xd 15,000
== 4,500
Al 10,500
OZFZAEA2HNA 16,000
= 4,800
Al 11,200
OIS AI 2N I3 14,000
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2A: sS4
B S0 QM A5 U YA
o9l 4SS EER-E)
SN - EHH .S (B) - NSAY - B4 0l & A 2
Al 588
02 QI EAIE B A (OIMTHE) 1,680 900 780
OZHEEXIEHl XA 1,680
J| 840
& 252
Al 588
Sat20/=2 2] N (ARISHA) 28,502 18,048 10,454
J| 14,251
& 4,275
Al 9,976
402 QI2EXH=20I™ 28,502 18,048 10,454
| 14,251
= 4,275
Al 9,976
03 IZtL| ErAL | 28,502 18,048 10,454
O22D| OI=H HESEY| XA 28,502
J| 14,251
= 4,275
Al 9,976
Sneaal XA 930,000 836,280 93,720
J| 558,000
T 93,000
Al 279,000
307 QIZtoI™ 930,000 836,280 93,720
J| 558,000
T 93,000
Al 279,000
05 QI2ZIRIE = 930,000 836,280 93,720
Ostn27 IAAY 930,000
| 558,000
& 93,000
Al 279,000
SENIASSHUASH A (RS ELKMAND st 27,000 28,800 21,800
Argd)
= 22,500
Al 4,500
402 QI2EXHE0I ™ 27,000 28,800 21,800
== 22,500
Al 4,500
02 QIZIAIEAIE B A (OIMTHE) 27,000 28,800 1,800
ORSZELRMAD|BIHAS ALY 27,000
& 22,500
Al 4,500




FA S
B S0 QM A5 U YA
ool EMHE (Shol: &2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SEXY SEMAS X2 (SASTHATAIA) (M A 57,600 0 57,600
2)
= 36,000
Al 21,600
402 I2FX=01 & 57,600 0 57,600
= 36,000
Al 21,600
02 RIENZASEZ(0IETHR) 57,600 0 57,600
OSFAtsH S AAE X3 57,600
== 36,000
Al 21,600
SENSEMASA R (ES AT YSYS}) (HEALY) 6,000 8,400 A2,400
= 5,000
Al 1,000
402 QI2F X201 & 6.000 8,400 2,400
= 5,000
Al 1,000
02 QI XHZ AL E R (01X THE) 6,000 8,400 A2,400
OEZAZYHI AL 6,000
=S 5,000
Al 1,000
FELE B3RS NE 14,000 0 14,000
< 10,000
Al 4,000
402 QI”F X201 & 14,000 0 14,000
= 10,000
Al 4,000
02 QI A2 AL E R (0IHTHEA) 14,000 0 14,000
ORrE28 JIs"s NE 14,000
= 10,000
Al 4,000
SM2E AR A 115,540 118,000 A2,460
402 2I2F X201 & 115,540 118,000 2,460
01 IR SASE X (XHMITHR) 115,540 118,000 A2,460
OX&zt HEH| &4ZHH| X2 19,300
OFazkL EHIs H2(SY, &H) X 96,240
JIEER &9y X2 24,000 82,800 /58,800
) 12,000
< 3,600
Al 8,400
307 lztol & 24,000 82,800 /58,800
Jl 12,000
== 3,600




A sS4
B S0 QM A5 U YA
ool S4E3 (St &)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
Al 8,400
02 QIZHEAAHE R 24,000 82,800 58,800
OJtE2% 01=E=48] XI& 24,000
| 12,000
& 3,600
Al 8,400
AFMHZ Q=R AIE K& 27,590 27,590 0
= 8,280
Al 19,310
402 IZER=0IH 27,590 27,590 0
= 8,280
Al 19,310
02 QIZEXHE A 2= (01 THE) 27,590 27,590 0
OLAFHMZ CHHEZRAIE XA 27,590
= 8,280
Al 19,310
ElHl 2= XA 30,000 30,000 0
& 9,000
Al 21,000
307 gI2Hol ™ 30,000 30,000 0
& 9,000
Al 21,000
02 QIRHEAAIEE R 30,000 30,000 0
O&lHl Z€&=% XAt 30,000
= 9,000
Al 21,000
FAEE AL (KH2HHI) 15,930 7,970 7,960
& 4,780
Al 11,150
307 gI2Hol 15,930 7,970 7,960
& 4,780
Al 11,150
02 QIZHBAAIH E X 15,930 7,970 7,960
Os4tetE A AL (KH2ZHAI) 15,930
= 4,780
Al 11,150
WHIMEZE DESHX HAHA 21,000 6,300 14,700
& 6,300
Al 14,700
402 QI2E X201 ™ 21,000 6,300 14,700
& 6,300
Al 14,700
02 QIZEXH2AIZ 2 (01 TH &) 21,000 6,300 14,700




A sS4
B S0 QM A5 U YA
Chol: EpH (Hol: &)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
O1D=E=HX MAHEE XA 21,000
& 6,300
Al 14,700
=AF 25 HMel - 22l X& 67,200 67,200
T 20,160
Al 47,040
307 2Iz2+0l™ 67,200 67,200
= 20,160
Al 47,040
02 QIZHBAAIEER 67,200 67,200
O=A 2 H™el - 2el XA 67,200
= 20,160
Al 47,040
OHHI M &E DNESHK MHA (SE) 10,500 10,500
& 3,150
Al 7,350
402 QI X201 A 10,500 10,500
T 3,150
Al 7,350
02 QIZIXEAMEEAE(OIMTHE) 10,500 10,500
OYHIMEE D=EX HHAMSE(XE) 10,500
= 3,150
Al 7,350
HSAE MEH XA 7,500 7,500
& 2,250
Al 5,250
307 212+01™ 7,500 7,500
& 2,250
Al 5,250
02 QIZHAAAHE X 7,500 7,500
OF=AIE NEM K& 7,500
& 2,250
Al 5,250
o NWRE ST XA 21,000 21,000
& 6,300
Al 14,700
402 QI2E X201 ™ 21,000 21,000
& 6,300
Al 14,700
02 QIZEXH2 A 22 (01 & TH &) 21,000 21,000
O HRE Sesd XF A 21,000
T 6,300
Al 14,700




2A:
X XH -
o e

=aak

SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2

Sgdze] 2,943,722 2,816,221 127,501
= 957,554
| 99,471
& 471,607
Al 1,415,090

FHS LA MYAE 2 NAOISYAAE) 930,588 949,518 A 18,930
= 449,679
& 108,453
Al 372,4%

206 =8l 866,988 885,918 A 18,930
= 417,879
= 97,853
Al 351,25

01 M=l 866,988 885,918 A 18,930
OotsgdarZ 2| 866,988
= 417,879
= 97,853
Al 351,256

307 212+01 A 63,600 63,600 0
= 31,800
= 10,600
Al 21,200

02 QIRHEAAIHEE X 63,600 63,600 0
OHX W2 Al XA 63,600
= 31,800
= 10,600
Al 21,200

JSEAL IR A 310,167 251,617 58,550
= 201,123
& 35,058
Al 73,986

206 =4l 53,367 79,517 A26,150
= 35,463
& 5,803
Al 12,101

01 =l 53,367 79,517 A26,150
OFHGeAl X2 (A7L2) 43,467
= 30,513
& 4,318
Al 8,636
O7HGE HAESAEY A 23t 9,900
= 4,950
& 1,485




FA S
B E4 AW A5 U YA
&2l JiEsggzel EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 3,465
301 LEtE NS 65,500 56,000 9,500
= 31,750
= 10,125
Al 23,625
14 0Bt 2a=3 65,500 56,000 9,500
Ol ESAI=HI(505012H) 60,500
= 30,250
= 9,075
Al 21,175
O4 FHS MW 5,000
= 1,500
= 1,050
Al 2,450
307 gl2to| & 191,300 0 191,300
= 133,910
= 19,130
Al 38,260
02 2IZHBHAIHE £ 191,300 0 191,300
OFNg Al M= K& 191,300
= 133,910
< 19,130
Al 38,260
THS LAl HEAZ 2 X(AEI AL EH) 13,000 13,000 0
= 3,900
< 2,600
Al 6,500
301 EtE NS 13,000 13,000 0
= 3,900
== 2,600
Al 6,500
4 JIE2 8= 13,000 13,000 0
A Z Y SR4ictH AAE HEH| 13,000
= 3,900
S 2,600
Al 6,500
Sohs0F ggeimet X AJAY 132,250 70,704 61,546
7l 66,125
= 19,838
Al 46,287
402 2I2F X201 & 132,250 70,704 61,546
Il 66,125
= 19,838




FA S
B E4 AW A5 U YA
el JtEsg e EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 46,287
02 QI XHE AL E R (01X THE) 132,250 70,704 61,546
O=sdt=sJr ggel=et 2XX3 132,250
Il 66,125
= 19,838
Al 46,287
THS LAl HEAF Y XN (HX ALEEHE X 21,000 15,000 6,000
£ Xd)
= 10,500
= 3,180
Al 7,350
307 el2to| & 21,000 15,000 6,000
= 10,500
= 3,150
Al 7,350
02 2B HAIAE & 21,000 15,000 6,000
O&X 224&8 XN XA 21,000
= 10,500
< 3,150
Al 7,350
THSA LA EgAE 7Y KB (HHEREAMERS 23,760 23,760 0
NE)
= 11,880
& 3,564
Al 8,316
201 er23 | 23,760 23,760 0
= 11,880
< 3,564
Al 8,316
01 AtR2t2lt] 23,760 23,760 0
OF4t2d Xt S Stz N2 23,760
= 11,880
s 3,564
Al 8,316
THS Al AT PUXN(XHHREJAMEX| & 9,600 9,600 0
ANEE SSHA 7=5)
= 4,800
== 1,440
Al 3,360
201 =3 9,600 0 9,600
= 4,800
= 1,440
Al 3,360
01 AtR2te|H] 9,600 0 9,600
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202 04| 9,600 8,600 1,000
01 2LHA LI 9,600 8,600 1,000
OsENZAIE HR2F& U] 9,600
203 gF=4| 1,000 1,000
03 A=A 2= 1,000 1,000
OsEXNTAY AHRFA 1,000
sllsdE AN=sFd de2ssgdld 16,758 33,000 N16,242
= 8,379
Al 8,379
201 fer23| 4,000 10,000 26,000
= 2,000
Al 2,000
01 AtR2t2|HI 4,000 10,000 26,000
OZAsUR(2Y) 1,000
= 500
Al 500
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FA sEXE D
3N =& U8s4
el sEXNTAIY 2435 X (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 1,600
201 er23y| 3,200 3,100 100
= 1,600
Al 1,600
01 AtR2tc|Hl 3,200 3,100 100
O4H ddis 1,600
= 800
Al 800
OsENEX 2Hu= 1,600
= 800
Al 800
e B s A 167,860 162,220 5,640
=S 24,165
Al 143,695
201 et 3| 64,300 55,620 8,680
< 10,965
Al 53,335
01 At22telt] 64,300 55,620 8,680
O4H 22X 3= 16,500
= 3,300
Al 13,200
SENEA 2K 52 35,700
= 7,140
Al 28,560
Ostu4H s X 2,100
& 525
Al 1,575
OFE4H UXE sl JEHs u=s 5,000
OsENEA 898 =2lus K& 5,000
206 M=l 14,000 19,000 /5,000
01 M=4l 14,000 19,000 25,000
Ostu4H HHES HEH| 7,000
O4H SSHNZE H=4l 2,000
sEXNCA 8% =2us M=l 5,000
301 EtE N = 37,600 42,600 25,000
= 4,200
Al 33,400
08 212+91=2| 44| 6,400 6,400 0
OSEMEAY 245201 2T 6,400
s 2,400
Al 4,000
11 dALREIXIE S 31,200 36,200 25,000




FA sEXE D
3N =& U8s4
el sEXNTAIY 2435 X (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OFE4H HNESs XNI&A 1,800
= 450
Al 1,350
OsEXNZA 243t X& 5,400
=S 1,350
Al 4,050
OSHsS sENEL d & SsSYu= 14,000
O4H gzl HHESs X 5,000
O4HES =52 It & o X 5,000
307 @120l & 51,960 45,000 6,960
s 9,000
Al 42,960
02 QB AANEER 51,960 45,000 6,960
Od= sEXNTA U2 6,000
[ 1,500
Al 4,500
OsgolststH g5at X3 10,000
= 3,000
Al 7,000
OsgosisHHl JI=HIUS s 10,500
s 3,180
Al 7,350
O4H clt Y HHeF =135 10,600
Os&XNEAt etotsial X 10,360
Ods 424 & F0oigs Nd 4,500
= 1,350
Al 3,150
SENYSIsEY 90,040 88,200 1,840
[ 7,250
Al 82,790
201 Ler23 | 40,000 40,000 0
= 6,000
Al 34,000
01 At2teltl 40,000 40,000 0
Ond=sgel 32X 32 30,000
= 6,000
Al 24,000
Osgll Hd=gel o0l w=sX1& 10,000
206 MH=H| 12,000 12,000
01 MHZHI 12,000 12,000
Osel 6d=s2el OF3taIol BsXI 12,000
301 EtE NS 23,000 23,000
11 dALEEIXIE S 23,000 23,000
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2A:

E M

ool Pz X (crel @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 25,000
Al 25,000
02 QIZEHE AL E (01X THE) 50,000 0 50,000
OxRE21d 2= fe dUe &dx
. 50,000
= 25,000
Al 25,000
ARsd g2 GH AKZIZ2IY 2435 AIH(H 20,000 0 20,000
EALY)
< 10,000
Al 10,000
206 MH=HI 20,000 0 20,000
S 10,000
Al 10,000
01 MHZH| 20,000 0 20,000
OX0bts =AY Xz HE WSz
-8 20,000
= 10,000
Al 10,000
TAIE HUXE XZAE 40,000 50,000 10,000
201 et 3| 2,000 2,000 0
01 At2t2l] 2,000 2,000 0
OZAlgl HUXlZ X2AE 2E 2,000
206 M=l 28,000 40,000 A12,000
01 MZH| 28,000 40,000 A12,000
O=AlY XFHM JIE M= 28,000
301 EtE N = 10,000 8,000 2,000
14 JIEt 2 a3 10,000 8,000 2,000
OX0Pts =AY JUXIE KI2AHE ZAF
H S 10,000
s sA & FEEYXE X 10,000 10,000 0
301 22N = 10,000 10,000
BIIE2d= 10,000 10,000
OF=se gxtz X 10,000
HAsHAE sz u= 20,000 25,000 /5,000
= 10,000
Al 10,000
201 Ler=23| 15,000 20,000 /5,000
= 7,500
Al 7,500
01 AFS2t2ltl 15,000 20,000 /5,000
OHsHENS 2H=8 72 S 15,000
= 7,500




2A:

3 =& U8s4
=R AsEE AE (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 7,500
301 LEtE NS 5,000 5,000 0
= 2,500
Al 2,500
11 AALAEIXIE S 5,000 5,000 0
OFIsHELS 45 BIHINE S 5,000
= 2,500
Al 2,500
HSHE SIS 60,000 66,000 26,000
= 30,000
Al 30,000
301 EetE2 NS 60,000 66,000 26,000
= 30,000
Al 30,000
14 0Bt 2as 60,000 66,000 26,000
OFis7E sddds HENE ¢ 60,000
= 30,000
Al 30,000
S =18 = XA 30,000 30,000
402 2I2F X201 & 30,000 30,000
01 QI X2 AL E A (KHHITHE) 30,000 30,000
OA=Q =)DIgt =4 K& 30,000
HsHE = ds3d & 30,000 30,000
201 fet=23y| 10,000 10,000
01 AtR2te|HI 10,000 10,000
OA=s7HE Sstisa2dt 29 =578 10,000
206 M=l 10,000 10,000
01 MHZHI 10,000 10,000
OFIs7E Ssdss2t 45 Madl 10,000
401 Al HIZL 201 10,000 20,000 10,000
01 Al&HI 10,000 20,000 10,000
OFIs7E Ssddasst =4 10,000
HSHE E23Xktel ZEAY 37,000 37,000 0
307 gl2to| & 37,000 37,000
02 QI AAEE X 37,000 37,000
OFSHE 2kl ZEAg gtz 37,000
HsHES LS X (HEAY) 96,000 95,000 1,000
[ 48,000
Al 48,000
307 lztol & 96,000 95,000 1,000
= 48,000
Al 48,000




FA sEXE D
3 =& U8s4
=R AsEE AE (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 2IHBHAIHE £ 96,000 95,000 1,000
OAsFHEE LS X (HEAY) 96,000
= 48,000
Al 48,000
CAIR sERX A 245,000 319,000 AT74,000
= 122,500
= 36,750
Al 85,750
307 el2to| & 245,000 319,000 AT74,000
= 122,500
< 36,750
Al 85,750
02 2IZHB A E & 245,000 319,000 AT4,000
O=AY sERX X2 245,000
= 122,500
< 36,750
Al 85,750
CAsE =4 32 &4 53,000 53,000 0
201 er23| 3,000 5,000 22,000
01 At2teltl 3,000 5,000 /2,000
OFANsY sM4(RYE) 32 29 3,000
206 MH=H| 35,000 30,000 5,000
01 M=4l 35,000 30,000 5,000
OAN=g =sM4(5E) 328 &4 W2 30,600
O AR He &= 4,400
301 2EN= 15,000 18,000 23,000
14 JIEt2 8= 15,000 18,000 A3,000
OZAIZ0 HEWs XA 15,000
A=Y d20t 24 25,000 25,000
201 er2 3| 4,000 4,000
01 AtR2telHl 4,000 4,000
OFAN=sg NHAHS FSE WS 2¢ 4,000
206 M=l 6,000 6,000
01 M=4l 6,000 6,000
OEAl=gY XIHAS FASE WsEliEg 7Y 6,000
301 2eEN= 15,000 15,000
11 dALREIXIE S 3,000 3,000
O=A=g NHAS FSE HA0E S 3,000
14 IIEt2 83 12,000 12,000 0
OZA=g AT FISE A 12,000
CAsY JIBRE XY (A2E) 38,400 33,200 5,200
=S 12,800
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FA sEXE D
3N =& U8s4
CHel: =90l HYNR X2 (Srol: 22)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 5,000
01 AtR2t2|HI 10,000 0 10,000
OclOIEHHA g& AHE= H& HEE
S2H 10,000
= 5,000
Al 5,000
405 AHaHE S 40,000 0 40,000
= 20,000
Al 20,000
01 ML ESFSHI 40,000 0 40,000
OctoIEAHHA AFROL &X 40,000
= 20,000
Al 20,000
SHAUEHLLH NS (M2 =L R) 18,000 20,530 A2,530
= 9,000
Al 9,000
201 223 10,000 10,000 0
= 5,000
Al 5,000
01 At2t2ltl 10,000 10,000 0
Osgous 29 10,000
= 5,000
Al 5,000
301 EetE2 NS 8,000 10,030 /2,030
= 4,000
Al 4,000
11 AALAHIXIES 2,000 3,000 A1,000
OMdisHlA4ENS I 24 2,000
= 1,000
Al 1,000
14 IIEt2 83 6,000 7,030 21,030
Ous ZAI 6,000
= 3,000
Al 3,000
HEBOAANM (S IHE) 24,000 24,000 0
= 12,000
Al 12,000
201 =3 8,000 6,000 2,000
= 4,000
Al 4,000
01 At2t2lt] 5,000 3,000 2,000
Osgeltisr 29 5,000
= 2,500




FA sEXE D
3N =& U8s4
CHel: =90l HYNR X2 (Srol: 22)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 2,500
03 A= 3,000 3,000 0
Osgellist EgA 3,000
= 1,500
Al 1,500
206 M=l 1,000 1,000 0
= 500
Al 500
01 =4l 1,000 1,000 0
Osgeltist 24 1,000
= 500
Al 500
301 EtE NS 15,000 17,000 /2,000
= 7,500
Al 7,500
11 dALEEIXIE S 2,000 5,000 A3,000
O=goltist It 24 2,000
= 1,000
Al 1,000
4Bt 2 a3 13,000 12,000 1,000
sgolls =29 13,000
= 6,500
Al 6,500
AMOIH =Rl e-HIELIA ASEHE K& 10,000 10,000
301 22N 10,000 10,000
14 JIEt2d = 10,000 10,000
Od=23u=s ZoAg s 10,000
NesIe2=58 25 34,500 32,000 2,500
= 4,000
Al 30,500
101 2I24H| 29,000 26,000 3,000
= 4,000
Al 25,000
04 JIZtN2Z2 XS+ 29,000 26,000 3,000
OZHI0IXl & oB&tel JIZHMZ2EXN B+ 8,000
= 4,000
Al 4,000
OEHI0IXl ¥ DB2t2l JIAM22X E4=(F
IEREHITH ) 21,000
201 er2 3| 5,500 5,500
01 AtR2telHl 1,500 1,500
Od sralpCate 1,500
02 S3=gHl 4,000 4,000 0




SH: SEXAD
IE: =& ol=S4
=l =gl dgus K& (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
|| Osmox suz+ 4,000
SIAXEA 2,391,590 1,581,005 810,585
= 13,400
& 433,589
Al 1,944,601
SIH ==l XA 325,000 827,200 502,200
101 @124H| 138,000 96,000 42,000
M IRINZZ2NSE 138,000 96,000 42,000
OUTAIRITIE +2] 2 BT S0 138,000
201 er2 3| 67,000 80,500 A13,500
01 AtR2te|HI 30,000 15,000 15,000
OSINYUMNLY SHSE 7Y S 30,000
02 s3=gHl 37,000 65,500 228,500
OsJIAHLUAIREA 2 37,000
206 MH=HI 120,000 100,000 20,000
01 =8l 120,000 100,000 20,000
OsJH 224 F3ME & s+ 120,000
ASAEIH HAFS 1w 10,000 0 10,000
301 LEtE N = 10,000 10,000
14 IIEt2 8= 10,000 10,000
012 DR(AHALIIN $513S) &I}
24 10,000
SIHAUAMSE (M) AEIHESA 167,000 0 167,000
401 A2 HIRL R 0HbI 167,000 167,000
01 Al&HI 167,000 167,000
SIHLTHAILB (M) AEHS SA 167,000
sSIHYUHAIEE (24, S5) CTV &X 19,000 19,000
401 AIZHIZ SO 19,000 19,000
01 Al&HI 19,000 19,000
OsIIHAUANRT (24, S7) OV 8% 19,000
wWEE SYIIA XN 9,000 0 9,000
= 4,500
Al 4,500
405 AtatE=H 9,000 0 9,000
= 4,500
Al 4,500
01 Tt =S F=HI 9,000 0 9,000
O=g9l ISE =8I 2Y 9,000
= 4,500
Al 4,500
W-oist Bt & fSIIH OHA 2 300,000 0 300,000
405 KHaHF S| 300,000 300,000




2A:

3N =& U8s4
&elr SIIAHXZ (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 AL =S F=HI 300,000 0 300,000
Oou-seist 2ot & D& sIIH UH 2 300,000
SIALUAML A =S FH UMK 69,300 0 69,300
S 20,800
Al 48,500
405 AtatE = 69,300 0 69,300
== 20,800
Al 48,500
01 Tt =S F=HI 69,300 0 69,300
OsSIHALUMSE == FHl Al 7 69,300
[ 20,800
Al 48,500
WEE SIIH AlIEcole + 150,000 150,000
405 AHatE = 150,000 150,000
01 MMM ESFSHI 150,000 150,000
OuWsE sI)IH Al2d0le & 150,000
SIHSUHAIE A AFRI 2 31,000 31,000
405 AtatsE = 31,000 31,000
01 TR ESFSHI 31,000 31,000
SIHSUMS A AIRIHT & EHIF Y 31,000
SYUE £E MEAASE SEXE(HEAY) 40,000 40,000 0
< 7,500
Al 32,500
301 EtE NS 40,000 40,000 0
= 7,500
Al 32,500
14 DBt 23 40,000 40,000 0
SgE B dENAsE S8R 40,000
= 7,500
Al 32,500
SIH SR FHAA 9,500 17,200 NAT,700
= 3,800
= 1,710
Al 3,990
206 MH=H| 9,500 17,200 AT,700
= 3,800
= 1,710
Al 3,990
01 MZH| 9,500 17,200 AT7,700
OsJIH SHEX FHAZ AL 9,500
= 3,800
& 1,710




FA sEXE D
3N =& U8s4
Cel: SIIAXA (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Al 3,990
SIAHXNZAME 134,000 233,540 A\99,540
== 38,700
Al 95,300
202 04| 5,000 4,540 460
01 =LHO LI 5,000 4,540 460
OsIAHNE g2 5,000
307 elzto| & 129,000 129,000 0
= 38,700
Al 90,300
02 2B YAIHE A 129,000 129,000 0
O=J1H S8EE X3 (2HIAEXR) 129,000
= 38,700
Al 90,300
S48 SIIH B=XE 172,000 172,000
402 2I2E X201 & 172,000 172,000
01 QI XH2AILE R (KM THE) 172,000 172,000
O=Zag sI1H XNZAY 172,000
SO HUd X 213,426 226,665 213,239
= 64,028
Al 149,398
402 2IZtA=01d 213,426 226,665 A13,239
= 64,028
Al 149,398
02 QI XHE AL E R (01X THE) 213,426 226,665 213,239
OsJIH ZHia ZHl K& 213,426
== 64,028
Al 149,398
SYIIAH et us X 10,200 8,400 1,800
= 5,100
Al 5,100
201 Ler23| 5,000 4,000 1,000
= 2,500
Al 2,500
01 AtR2te|HI 5,000 4,000 1,000
Os2IIH ¢S X3 5,000
= 2,500
Al 2,500
202 04| 1,200 1,200 0
= 600
Al 600
01 2LHoIH 1,200 1,200 0




2A:

BH: =& 01SY
Cel: SIIAXA (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2

OsgIIH ¢dus X3 1,200
= 600
Al 600

301 EtE2 NS 4,000 3,200 800
= 2,000
Al 2,000

14 0Bt 2as 4,000 3,200 800
OsgIH ¢du=s X 4,000
= 2,000
Al 2,000

=0l THol etMits S (MEAY) 50,000 0 50,000
= 25,000
Al 25,000

307 el2tol & 15,000 0 15,000
= 7,500
Al 7,500

02 QIZHEAAEE X 15,000 0 15,000
OsgelMol et&lls SEAE 15,000
s 7,500
Al 7,500

402 BIZtAH=01A 35,000 0 35,000
= 17,500
Al 17,500

02 QI X2 AL EE(0IHTHE) 35,000 0 35,000
Osgol Mol 2A&0tE SEAIY 35,000
= 17,500
Al 17,500

SEY oo R LA NI (MEAIY) 30,000 0 30,000
== 15,000
Al 15,000

201 =3 26,000 0 26,000
[ 13,000
Al 13,000

01 AtR2t2ltl 26,000 0 26,000
O=&g Mololle SH8EA WS 26,000
= 13,000
Al 13,000

301 EtE N = 4,000 0 4,000
S 2,000
Al 2,000

14 0Bt 2a3 4,000 0 4,000
Os&Y Molioe &2A Ws 4,000
== 2,000
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0x
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H
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5,311,577

508,233
15,612
984,789
3,802,943

4,732,338
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5,267,337
508,233
15,612
984,789
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601,379

2,385,243
440,233
190,080
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1,952,283

432,960

89,000
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30,000

60,000

in

Al

60,000
30,000
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A JI=ES

3 sI=MHeE
Hel: A0 JIsESMY (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 600
03 Al 2HI 1,200 1,200 0
OJtEER 8l f=% SHIIE 7 1,200
= 600
Al 600
AANEZ #FZH| X2 (ZHSEE) 6,183 6,183 0
= 6,183
206 M=l 6,183 6,183 0
= 6,183
01 MZH| 6,183 6,183 0
OSdA=M =tz AHBIIE &+ ES
g8 Mg 728 6,183
= 6,183
EASE JIEER 24018 = 200,000 0 200,000
= 100,000
Al 100,000
405 KHaHF S| 200,000 0 200,000
= 100,000
Al 100,000
01 IR ESFISHI 200,000 0 200,000
OEAZE I=EEREA Jle & 200,000
= 100,000
Al 100,000
sHEYMNS LMl X2 (KHA) 460,000 568,500 108,500
402 QI2F X201 & 460,000 568,500 108,500
01 QI X2 AL E A (KHHITHE) 460,000 568,500 /108,500
Os&=dolE gl X2 460,000
sASYoiE LAl XY (HSEH) 180,000 162,000 18,000
= 90,000
Al 90,000
402 2IZtA=01A 180,000 162,000 18,000
= 90,000
Al 90,000
02 RIENEASEZ(0IETHR) 180,000 162,000 18,000
Osz2gais LMl X (HSed) 180,000
= 90,000
Al 90,000
B OlAE=EE MISRHA 250,000 0 250,000
402 2I2F X201 & 250,000 0 250,000
01 QI X2 AL E A (KEHITHR) 250,000 0 250,000
OH 0I4=Ed MM A& 250,000
sHESEHE detd =29 NE 22,000 22,000 0
= 11,000




M =28
3 sI=MHeE
Hel: A0 JIsESMY (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 11,000
101 @1A4H| 21,000 21,000 0
= 10,500
Al 10,500
04 JIZtN2Z2XNSE 21,000 21,000 0
Ogdis HZEE 22X R 21,000
= 10,500
Al 10,500
201 er23 | 1,000 1,000 0
= 500
Al 500
01 AtR2te|Hl 1,000 1,000 0
Odgelig dta 2ga 1,000
= 500
Al 500
sHEgdE AL 28 XNE 3,900 3,900 0
= 1,950
Al 1,950
201 2egh=3| 1,700 1,700 0
= 850
Al 850
01 At2teltl 1,700 1,700 0
Oddlis 2M 22 & XIEXE M 1,700
= 850
Al 850
301 EetE NS 2,200 2,200 0
= 1,100
Al 1,100
14 JIEt2 8= 2,200 2,200 0
OS%E M U HHlE BREXA IX =
Jb 24| 2,200
= 1,100
Al 1,100
oS HEEY 28 A& 4,800 7,200 N2,400
201 eer23| 4,800 4,800 0
02 S3=gHl 4,800 4,800 0
ORUSTESY HEANLE =2Y 4,800
SYSAE =29 16,800 65,400 48,600
101 21AH| 3,800 2,400 1,400
M ORNZZ2NSE S 3,800 2,400 1,400
OSSN 2g =] JIZtH 21FY 3,800
207 ARl 13,000 8,000 5,000
03 A& 328 13,000 8,000 5,000




A JI=ES

3 sI=MHeE
Hel: A0 JIsESMY (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZZHID 2 ASNEE 29 SA, A
AWM, NS A28 7Y 8,000
OH AISZ dSMUHAIE 5,000
sA2 Holls HEAAYE SUHIHHEAIY) 20,000 0 20,000
== 10,000
Al 10,000
405 KHaHE SH 20,000 0 20,000
< 10,000
Al 10,000
01 AL =S F = 20,000 0 20,000
OUZEAIAE STHat0l [HE &HHl 2 20,000
= 10,000
Al 10,000
AoV =2 SANSTY 342,400 375,500 /33,100
= 58,000
= 25,000
Al 259,400
s2 AIE A (ASESE) 110,000 80,000 30,000
= 55,000
Al 55,000
402 2IZtA=01d 110,000 80,000 30,000
= 55,000
Al 55,000
02 RIENEASEZ(0IETHR) 110,000 80,000 30,000
OdtoI2xt & AE 28 AIZTHIX 24&0t
A 2= D= MY 30,000
= 15,000
Al 15,000
OAIZ20&E BlOleiA S I= AN 40,000
= 20,000
Al 20,000
OLXl = dE8 Us 2+ALE Al 40,000
= 20,000
Al 20,000
Sl AN (E0L, AT S) 8RS 82U 40,000 0 40,000
A (HEALS)
= 20,000
Al 20,000
402 212t X201 & 40,000 0 40,000
= 20,000
Al 20,000
02 QI XHE AL E R (01X THE) 40,000 0 40,000
OJdlsd R0l &IHF AT AlE 40,000
== 20,000
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SN JIERID
B zedIBHY

el E]Z”%za/j@ 2 MII=ASAIE (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ozletd =Jls 10,000
401 AIEHIX SO 70,000 160,000 80,000
01 Al&H| 69,500 159,000 89,500
Oozlatd &5 69,500
03 AlESTHYI 500 1,000 A500
Orle B S 500
405 KHaHE SH 20,000 90,000 A70,000
01 Tt =S F = 20,000 90,000 A70,000
Ozlatd dHS4 &dl 2 20,000
25EAY == 0|1Set 2= 20,000 0 20,000
=
= 10,000
Al 10,000
207 ARl 20,000 0 20,000
= 10,000
Al 10,000
03 Al &=t 20,000 0 20,000
Ozletd DIdEHHM & e e + 20,000
= 10,000
Al 10,000
2= 2 2,065,694 1,848,375 217,319
Jl 15,612
< 769,709
Al 1,280,373
SO AADE A= 146,850 239,800 A92,950
202 04| 7,200 8,000 A800
01 2LHoIH 7,200 8,000 2800
OJ1aldar & 7,200
402 QIF X201 & 139,650 182,800 A43,150
01 SItXt= ALY 139,650 182,800 A43,150
Ozttt A8 56,150
OXNHE 8s 40,000
OodteA = 43,500
sEAESMoi 2o 720,000 563,392 166,608
= 270,000
Al 450,000
301 EtE NS 720,000 563,392 166,608
= 270,000
Al 450,000
14 DBt 23 720,000 553,392 166,608
s&= Mol 720,000
=S 270,000




dded EER-E)
RA - BB S9I(S) - MRAE - A HIDEZ
| Al 450,000
sENY SLEE X (SLSHEIES 550,668 242,400 308,268
ISR =) (HMEALY)
& 458,890
Al 91,778
402 QI>F X201 & 550,668 242,400 308,268
= 458,890
Al 91,778
02 QI X2 AL EE(0IHTHE) 550,668 242,400 308,268
OXISS3EES HILoRA XI3A 550,668
= 458,890
Al 91,778
SENASSMASXH (KU AS SHOIHIE RS ARS)( 23,400 22,800 600
HEALY)
& 19,500
Al 3,900
402 BIZtAH=01A 23,400 22,800 600
== 19,500
Al 3,900
02 QI2tXt= ALY (OI&TH&) 23,400 22,800 600
OJ0MZS SHOIHE i 23,400
= 19,500
Al 3,900
Hilsats d58s SYAE 538,800 375,460 163,340
301 EetE2 NS 22,200 26,160 A3,960
11 #AIAHIXIE S 1,200 0 1,200
Hilsits deAs A48 J4 1,200
14 JIEt2 8= 21,000 26,160 A5,160
Odlsats xS 2148 21,000
402 2I2F X201 & 516,600 349,300 167,300
01 QI X2 AL E A (KEHITHR) 516,600 349,300 167,300
OoBPtEsteA X1 X2 167,400
Ol dah SHUHstAlE XIE 58,000
ORgEAE: 84 X 241,200
O=XIHA JIHSH THERERX] &4 50,000
HO=0F ICT 8= N& 34,346 120,000 A\85,654
Jl 15,612
< 5,620
Al 13,114
402 BIZtAH=01 A 34,346 120,000 A\85,654
J| 16,612
=S 5,620
Al 13,114




2A: JI=E2SH
M SHI|=oHY
2l JIEld A= 2t (EEEE))
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
02 QIZEXHEAIZ 2 (01 THE) 34,346 120,000 A85,654
OulHX BZAId K& 19,4%
| 8,862
= 3,190
Al 7,444
OAIZ 203t 14,850
| 6,750
T 2,430
Al 5,670
ANAESIRA 23| x| 4,800 35,773 230,973
& 1,440
Al 3,360
402 QI X201 ™ 4,800 35,773 230,973
& 1,440
Al 3,360
02 QI EAIE EE(OIMTHE) 4,800 35,773 230,973
OAEoIRA 2| XA 4,800
T 1,440
Al 3,360
HEHE ADIEE SAANY 45,780 45,780 0
= 13,734
Al 32,046
402 QI2H X201 ™ 45,780 45,780 0
& 13,734
Al 32,046
02 QIZEXH2 A 2 (01 TH &) 45,780 45,780 0
O (2AHE) ADER XA 45,780
& 13,734
Al 32,046
Sofl OfM=E= JITIA XI&AS 1,050 0 1,050
= 525
Al 525
307 2I2+01A 1,050 0 1,050
T 525
Al 525
02 QIZHAAAIEER 1,050 0 1,050
ORoll OFMEE J|OIA X2 1,050
& 525
Al 525
MY 2IHHI(OlI223) 44,240 66,380 A22,140
CIEARIHI(DI=E23) 40,000 62,600 222,600
IERIHI(DI=E31) 40,000 62,600 222,600
101 21| 36,000 56,000 220,000
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